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BIOLOGY 10th
(g piet it )

Stomata are present in: WLz | 4
(A) Epidermis v/ (B) Endodermis J sl (+) A (=2)
() Xylem (D) Phioem 2z () i ()
, :'::::ﬁ; ﬁ?gshlt%? absorbed through stomata of plants e dniAsol el SomnLon| 2
(A) | Carbon dioxide | (B) Oxygen v/ S (+) s i (=)
(C) Nitrogen (D) Hydrogen o (2) S @)
. ::::;II]I _;yp& of blood vessels present around the i Fot b S L |
(A) Artery v/ (B) Capillary SA (<) ST (<)
(C) Arteriole (D) Veins o () Sy @)
. .il::g:;:?e :ln of oxygen and giving out of carbon dioxide :q.ru{blu?;gl,fjjwém;xﬁmtf.,@f u"ff .
(A) | Aerobic respiration | (B) |  Anaerobic respiration kgl () S sk (=)
(C) | Gaseous exchange | (D) Respiration v/ o (2) Sk @)
5 | The glottis is guarded by a flap of tissue called: e bl e Befai g [ILAS0 88| 5
(A) Trachea (B) Glottis S () iy ()
(C) Bronchi (D) Epiglottis v A () e @)
The thick muscular structure that is present below
6 | the lungs is called: e bl e b E Ly zf )t L | T
(A) | Diaphragmv | (B) Thorax JEE () 1 ()
(C) | Pleural membrane | (D) Abdomen 1l (2) LA Jork @)
The gaseous exchange in mammals or.cow is
8 | occured: e tndifurd fe M | g
(A) Bronchi (B) Trachea £ (<) A7 (=3)
(C) Pharynx (D) Alveolt v/ Sy () S (2)
9 | The box which produces.sound is called: uif/ﬁbiiﬁ#hf 9
(A) Trachea (B) Bronchi REY, (<) iy ()
(C) Alveol (D) Larynx v/ i () FATPYY (2)
The walls of the alveoli are broken down in the
10 | disease named: e t$ I oSS AU Sdugd | 10
(A) Bronchitis (B) Emphysema v e G4 («) Sl ()
(C) Pneumonia (D) Asthma - () Ly @)
Which disease is caused by streptococcus
11 | Pneumoniae? te dnshuef el dies | 11
(A) Bronchitis (B) Emphysema Lo («) al 2y (<)
(C) | Pneumoniav | (D) Asthma - (2) s @)
12 | ihe A Sl 75 £\ D O essyrEaEe st | 10
(A) At least 30 (B) At least 40 Rebnd (<) i (<)
(C) | Atleast50 v | (D) At least 60 v eld (s) 5144 (&)
13 | The process of guttation occurs in the plant: e bl Ung S J h’r?-f 13
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(A) Pine (B) Grass v Ju () 5 (3h)
(C) Keekar (D) Rubber plant 15462 (2) K @)
Excretion of water through special pores present at . . .
14 | the margin of leaves is called: e QU uf‘ﬁld’dkawufwﬁ:ﬁazuw@uﬁ 15
Guttation v/
(A) Evaporation (B) Bt (+) O (=2)
(C) Transpiration (D) Sublimation T () SIS @)
The gas produced in mesophyll cells as by product OW A St K Pt Londpin Lo
16 | during day time is called: '~ | 16
(A) Oxygen v (B) Carbon dioxide ATk () ST (<)
(C) Nitrogen (D) Chlorine O (2) UL (@)
Plant store most of the water in their cells mostly for bﬂﬁmLLﬁ*;‘.Lwﬁ;lﬁmg}J&gutkyu{:
17 | the: | 17
(A) |  Transpiraion | (B) Guttation Ol («) Bl (3h)
(C) Turgidity v (D) Photosynthesis el (s) Y (@)
Maintenance of water, mineral, temperature and »
18 | glucose in the hody is called. bW bnelI R S E b7 piecd Py | 18
(A) Excretion (B) Tubular secretion BT () A (<)
(€) | Homeostasis v | (D) Re absorption SNy () I s (@)
The maintenance of internal human body ) ‘
19 | temperature is called: %ﬁfffﬁf,éf;}ah—?duﬁl&ulul 19
(A) | Osmoregulation | (B) Respiration I (w) s (=)
(C) Guttation (D) Thermoregulation ¥ S e 2 () @)
Which of the following maintains the body i}
20 | temperature? k;-lrf Iolts./| r‘ziuﬁi—u’)-:,éﬁ i’(? 20
(A) Ear (B) Kidneys s/ («) ¥ ()
(C) Skin v (D) Lupgs. A () A @)
66 | The length of each kidney.is: e Gndides s | 66
(A) 10 cm v/ (B)A 5 cm 5 cm (+) 10 cm (=)
(C) 4 cm (D) l 27 cm 27 cm (2) 4 cm @)
68 | Weight of human kidney-iS approximately: =q-tm:ﬂ:k/'""fuf" Lo | 68
(A) 27 g (B) 127 g 127 g (w) 27 g (<3)
(C) 60 g (D) 1209 v 120 g (2) 60 g @)
The longitudinal section of a kidney shows the outer
13 | part: ::,-_t*lk'/ ot Eiibe LS| 13
(A) | Renalcortex v | (B) Renal medulla braer o () UK (w31)
(C) | Renal pyramids v | (D) Renal pelvis s (2) S @)
Body balance of water, salts, temperature and
74 | glucose is termed as: — e U LA E M E el | 74
(A) Excretion (B) l_ Tubular secretion L._,_‘E/E Sy () o (=3h)
(C) Homeostasis (D) ! Re absorption el () I g @)
15 | What waste products are excreted by kidneys? LS Fi i s S | 15
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Urea, water and

Salts, water and carbon

Jliu Sl L}L __,,l:/

(A) salts v (B) dioxide AT (+) = kg (=)
(C) | Ureaandwater | (D) Urea and salts =ty (2) St @)
78 | What are not filtered through glomerular capillaries? st P tn kil ek | 18
Blood cells and
(A) proteins v/ (B) Fats and proteins Hag s («) g 7 ik (31)
(€) | Fatsandsalts | (D) Salts and proteins s sl (2) =W (@)
80 | Functional unit of kidney is called: :dﬁﬁg{uf 80
(A) Glomerulus (B) Nephron v/ A () Sk (2h)
(C) Loop of henle | (D) Ureter it (2) TS @)
84 | Which type of coordination is found in plants? tededl T v wuny | 84
chemical B
(A) | coordination v | (B) | Mechanical coordination ST S (+) TR (=3)
Nervous oy A )
(C) coordination (D) | Electrical coordination ST KA () Ko I 17 (@)
86 | A coordinated action ends at: gt TS | g6
(A) Stimulus (B) Response v/ Sy () S (—3h)
(C) Coordinator (D) Effectors P (2) ptnrl @)
Which organs act as a coordinator in a chemical
87 | coordination? "ﬁ'—%’&!ﬁf,r%ff LS Muf LTS | 87
(A) Brain (B) Spinal cord g KL (w) s ()
Endocrine glands
(C) v (D) Neurons o (2) B S (@)
Specific organs, tissues or cells of the body that ,
91 | intercept the stimuli: - b S g Sl 2 KA Tl | 9
(A) Receptors v/ (B) Effectors e (+) J s )
(€) | Coordinators | (D) Deridrites Sl (2) T (@)
92 | Action performed by effectors s e U AU 22 | 92
(A) |  Responsev | (B /Stiatulus g () S (<)
(C) Voluntary (D) Involuntary S Ao (2) S Fa @)
The portion of the nervous-sysiem that is involuntary
95 | in action: Se bttt S L ot 2V 1) | 05
Somatic nervous )
(A) system (B) |  Motor nervous system /¥ () by ()
Autonomic nervous
(C) system v (D) | Sensory nervous system S (2) AT @)
Which neurons are present inside the central i} )
96 | nervous system? te-dedtt U fSue | 96
SENsory neurons
(A) only (B) Motor neurons only g b () g A (=2)
(C) Both (D) Interneurons only v/ S P17 () P ©)
Apart from hearing, what other major body function ‘
98 | is performed by the ear? fﬁ'ﬁ-—*ﬂf'ff Aol okl & | 98
(A) | Hormone secretion | (B) Body balance v/ Srlrg (s) SO (=3)
Reduction in nerve ) )
(C) pressure (D) All of these o (2) Sy ins @)
The myelin Sheath is formed by......... , Which wrap
99 | around the axons of some neurons. -u?Lﬂr‘#-:f L oS 2t lb.... S# M| g0
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(A) | Nodes of Ranvier | (B) Axons 7151 (+) el s 359 (=)

(C) Dendrites (D) Schwann cells v o (-) Nl @)
The thread like projections of a neuron cell body , Ay, , »
which conduct nerve impulses away from the cell L 4P s2 A oS Lo

104 | body of neuron are called: 0l | 104

(A) Axons v/ (B) Dendrites Vel («) A (31)

(C) Schwan cells (D) Nodes of Ranvier L0 1T (2) Ko @)
The clusters of neurons cell bodies outside CNS are

105 | called: B LK Lot p L~ il | 105

(A) Pons (B) Nerves iss (+) 7 (=2)

(C) Meninges (D) Ganglia v £ (5) LS (2)
Which neurons conduct impulses from CNS to . )

109 | effectors? Sl 3721~ i A K vinis s | 109

(A) Motor v/ (B) Inter FI (+) NG (=3h)

(C) Sensory (D) Hormones g (4) %1 @)
If a problem exists in the medulla oblongata of a

112 | brain, which function of the body will be affected? Wit oL u’(’" Inabd i st 1 | 112

(A) Intelligence (B) Body balance NI (=) = (=)

(C) Heart beat v/ (D) Thinking =210 3l (2) & s @)
Which part of a hindbrain controls muscle

113 | movements? Seb s 7S ol udby A | 113
Medulla oblongata

(A) v (B) Cerebellum Fez (+) skt s i (=)

(C) Pons (D) Cerebrum A (2) 7 @)
They receive information, interpret them and AP Tuidr AL S AL st A

115 | stimulate motor neurons: e | 115

(A) | Sensory neurons | (B) Inter AELFOIS, v/ ] (w) LS A (=)

(C) | Motor neurons | (D) Mixed heurons 258 (2) g 7y @)

118 | Receives and analyzes visual information: i b S ANt S dch S A | 118

i . ,

(A) | Temporal lobe | (B) | Qccipital lobe v/ ISEST (w) st (=2)

(C) Frontal lobe (D) [ Parietal lobe S () IS/ (@)
This lobe occupies regions of receiving information

124 | from skin: e CLE o frd i SUrsahd”c dedy | 124

(A) Frontal (B) Parietal v/ Sz (+) S/ (=2)

(C) Occipital (D) Temporal Jost (») JEGT @)

126 | The largest part of forebrain is: i bt N L 209 | 126

(A) | Hypothalamus | (B) Thalamus Vel (+) el ()

(C) Cerebellum (D) Cerebrum v/ Ca (») = (@)
This lobe belongs to the senses of hearing and

128 | smelling: e P e ur§vmii, | 128

(A) Frontal (B) Parietal (i (+) L/ (31)

(C) Occipital (D) Temporal v s () ST @)

130 | The outer most layer of a human eye consists of: 4;—3:?# 20 peaerd T | 130

(A) Retina (B) Sclera Vet (+) s (3)

(C) Cornea (D) Both b and ¢ v/ SO () s (@)
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131 | The middle layer of eye ball is: e QU =0 s SN LFT | 131
(A) Sclera (B) Choroid v/ i (<) Vst (=)
(C) Retina (D) Iris Ui (4) b @)
134 | There is a round hole in the centre of an iris called: g bl 2eg bl S LIk e sl T | 134
(A) Pupil v (B) Sclera £ (+) e (=)
(C) Cornea (D) Choroid s () s (@)
138 | Rhodopsin is present in a part of an eye: B lsmzr LA LE s | 138
(A) Rods v/ (B) Sclera Vs («) 0 ()
(C) Ligament (D) Fovea Lo () =4 @)
143 | Who described 130 diseases of eye? el U 130047 | 143
(A) | Alilbn-e-lsav | (B) Newton g4 (+) U= i (=)
(C) | Jabber bin Hayyan | (D) Ali bin Mussa §rod (2) e o 4l @)
Apart from hearing, ear also perform this major body )
146 | function: iz of PN Pl & | 146
(A) | Hormone secretion | (B) Body balance v/ SEE (=) SR (=3)
Reduction in nerve i .
(C) pressure (D) All v (2) L2V, @)
Owls cannot see during day time due to deficiency
151 | of: S & I LM | 151
(A) Cones v (B) Rods 3 () 7 (=)
(C) Cornea (D) Both A and B by A1) (-) s (@)
157 | lodopsin is present in: etz esyfT | 157
(A) Comea (B) Chorofd Ty () s ()
(C) Cones v/ (D) Rods s (2) # (@)
The deficiency of this vitamin causes poor night
158 | vision: s WS eva Sdrt” | 158
(A) D (B) C C (+) D ()
(C) B (D) AV A (») B @)
162 | Controls the secretion.of gituitary.gfand: e b S PTSS5626 | 162
(A) Grey matter (B) l Cerebrum Cai (+) e/ (=)
| )
(C) | Hypothalamus v, [\(D), Thalamus Vil (2) Ve £l @)
When human.body has low amount of water, then . .
163 | pituitary gland secretion: B NEINIT S P Yyl ot Lovie | 163
(A) | Versopersinv | (B) Insulin o («) g (ah)
(C) TSH (D) Oxytocin oIS () TSH ()
Which hormone causes contraction of uterus at the
164 | time of birth? S BaAWl £ Ly tpenl Purieod | 164
(A) Thyroxin v (B) Vasopression 4L («) oude (<)
(C) Oxytocin (D) Calcitonin s (2) AT (@)
168 | In auditory canal’s wall special glands produce: L xS LU S AST | 168
() Wax (8) Blood A (=) Ve (3h)
(€) | Auditory fluid v | (D) Nerve impulse ey () Ry (@)
This hormone is secreted in case of emergency )
170 | situation: e bl LS Ardy | 170
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(A) Pancreas (B) Glucagon o ¥ (+) Ve (=)
(C) Adrenaline v (D) Calcitonin I (2) H b @)
172 | It reduces the amount of calcium ions in blood: e b ST §FTEE Lu? | 172
(A) Calcitonin v/ (B) Parathormone i (+) I (=)
(C) Vasopression (D) Oxytocin oA (2) 412 @)
173 | The largest endocrine gland in the human body is: =4J=:'Jlﬁh:ih‘-:-r--,-fu-'ﬁ Lovl | 173
(A) Adrenal gland | (B) Parathyroid gland DR (+) i S (=2)
(C) | Thyroid gland v | (D) Pancreas W (2) i s @)
All these are the parts of axial skeleton of humans
181 | except: v o FELirt, | 181
(A) Ribs (B) Sternum r (+) Ui ()
(C) | Shoulder girdle v | (D) Vertebral column s (2) S @)
186 | The hard outer layer of bone is called: e e 25 B 1S4 | 186
(A) |  Spongybone | (B) Cartilage &K (<) il ()
(C) | Compactbonev | (D) Epidermis it (%) ned @)
189 | The skeleton found outside the body is called: :.;.t-mf J‘L} Ulﬁi-'fk,l;zrl.-ﬁr’? 189
(A) Endoskeleton (B) Exoskeleton v A A (<) Ul (=)
(C) | Hydro skeleton | (D) Fibro skeleton A (2) vy @)
195 | Which bone is a part of appendicular skeleton? ?»;-JJ‘]-'(‘ JExsieed | 195
(A) Skull (B) Vertebral column e 7s () 1773 (=2h)
(C) Sternum (D) Pectoral girdle v/ S5 () £ @)
196 | The smallest bone of a human skeleton is: %dié:‘f awftfwt? LoVl | 196
(A) Stapes v/ (B) Incus S (+) A )
(C) Malleus (D) Vertebra o () e (2)
197 | The biggest bone is found in our: :.;.d;d:f:s...,-;fw”? Lol | 197
(A) Thigh v (B) Hand A, («) iE ()
(C) Leg (D). Waist % () 7 (@)
206 | There are also fibres in.the-matrix of cartilage called: L AL REGEN | 206
(A) Glucagon (B) Insulin B () S (=)
(C) Collagen v (D) Leukuna (1E () S @)
The disorders in-which there is an accumulation of »
210 | uric acid in joints. - benG ISy RS 12U Sl | 210
(A) Gout v/ (B) |  Rheumatoid arthritis SETRL | () 514 (3h)
(C) Osteoporosis (D) Osteo-arthritis 1 T () s @)
211 | Deposition of uric acid in joints results in: e OneadnliaSigtuth | 211
(A) |  Osteoarthrits | (B) Gout v/ 11 (+) g (<)
(C) Osteoporosis (D) Rheumatoid arthritis o) N (2) J sl @)
This disorder involves the inflammation of the ')
212 | membranes at joints: e Qs szy 4 P 12S SRS | 212
(A) Gout (B) | Rheumatoid arthritis v/ SET | () =3¢ («3)
(C) | Osteoarthrits | (D) Osteoporosis S sy () T (@)
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A disease caused by the shortage of estrogen

215 | hormone is: te FnsiesoiadSurats | 215
(A) Gout (B) Osteoporosis v S s () =11 ()
Rheumatoid L y
(C) arthritis (D) Osteoarthritis JE T (») Ul EPIb 1YY (@)
216 | generaton's transmited to net is known as W Pt P Fusdwed eS| 216
(A) | Reproductionv | (B) Respiration FAL («) i (<)
(C) Reduction (D) Circulation i (2) & as @)
- Talr:s Ll:]armsn}::thud of reproduction in sponge, hydra B J‘?:,WJ r?gluﬁﬂ;f;?thﬂ- j,-; -
(A) | Fragmentation | (B) Spores Iaxy (+) S (=3)
(C) Regeneration (D) Budding v S (2) A @)
230 | Cloning is latest method of: ] Mﬂﬂﬂ-mm—ﬁ:‘/ 230
(A) | Tissue culture | (B) | Vegetative propagation v/ BER e () 2 ()
(C) Cutting (D) Grafting Sy () & @)
. Il;ill;n':.:u;;gnaallil :::tlre new plant from part of the original TN eS| 21
(A) Budding (B) Regeneration B0 (<) .-i-fé (=)
(C) | Fragmentation | (D) | Vegetative propagation v/ S R (2) . @)
- .:rcuﬁr;:sd;?elups into new garlic plant. This is the I ot gt Lo rdotl | 233
Uegeta_tive | L *
(A) | propagationv | (B) Regeneration A (+) Ol ()
(C) Meiosis (D) Gametogenesis S () JT g @)
234 | After fertilization in plants, the fruit develops from: T{-&:—J Sl LRI Luny | 234
(A) Ovule wall (B) Ovapiwall.v/ SRR - ST I ()
(C) Petals (D) Anther Sy (») o (@)
236 | Which one is an artificial vegetative propagation? Tq‘-w!"'g‘iﬂ W9y ude e | 236
(A) Bulbs (B) 0orms i () s ()
(C) Rhizomes (D) Grafting v/ i/ (») Y @)
242 | Vegetative propaoation.in fnint takes place hy: =4:&+Jn$%4%mm 242
(A) Rhizome (B) Corms pid () S (i)
(C) Leaves (D) Suckers v s (») % (@)
This method is used to propagate peach and plum
243 | trees: :.;.;a)m:,’.ndbﬁq'-ﬁwt’%{,ifmﬂ #7243
(A) Cutting (B) Grafting v S («) g (31)
(C) Bulbs (D) Corms i (:) s (@)
255 | Flower of which is pollinated by wind? fene* Sy slintddauy | 255
(A) Rose (B) Sunflower S8 () S lf (=3)
(C) Grass (D) Butter cup L3 AIF () e @)
258 | Ovules after ripening make: WMLt L& Jp | 258
(A) Fruits (B) Seed v/ g () S (1)
(C) Roots (D) Eggs il (») U2 (@)
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259 | From which part of the embryo root is formed? terels LiM4 | 259
(A) Plumule (B) Cotyledon erle (+) Jr% ()
(C) Radical v/ (D) Epicotyle S () N3y (@)
260 | Microspore in plants is also termed as: =+rﬂfuﬂuruf' L2eJeUnd | 260
(A) | Pollen grains v | (B) Pollen tube LUy (+) S (=3)
(C) Germ nucleus | (D) Mega spore e () ez @)
266 | The outermost whorl of flower is called: %fﬂﬁﬁwawfw# 266
(&) | Androecium | (B) Calyx v A () L ()
(C) Petals (D) Corolla s/ (2) K (@)
There is a scar on seed coat where the seed is
268 | attached to ovary wall is called: (B S bz APSEmBL sL S L dl | 268
(A) Radical (B) Hilum v & (+) Ss (3h)
(C) Plumule (D) Apicotyl S (2) Mok @)
273 | The transfer of pollen grains to stigma is called: :q.rllo"t.rsf FeeS, c!'; 273
(A) Germination (B) Reproduction g (=) T (=2)
(C) Fertilization (D) Pollination v/ sty () SIS @)
274 | The latest method of vegetative propagation is: =q-'5'lh'/ M{#E’Jf%.c}ffr 274
(A) Budding (B) Bulbs i (w) 4 (=3)
(C) Cutting (D) Cloning v £ (s) =g ()
The vegetative propagation in onion takes place ,}" ,
281 | through: - Lt G E st | 281
(A) Stem tubes (B) Bub v N\ L)) () P (3h)
(C) Rhizome (D) Garms e () eidu @)
283 | Essential process for continuation of species is: P 4 $npd LSV L 258" 283
(A) Locomotion (B) Respiration B (w) S (=)
(C) Cloning (D) Repradustion v s () e (2)
Which part of the female reproduciive system ‘
285 | receives egg cells from the ovary? tetSUrsd K e §on oUSGF Pl | 285
(A) | Fallopiantube v | (B) | Uterus /e (+) L T (=)
(C) Vagina ()] Cervix s (2) Fles (@)
Which of these.cells has haploid number of .
287 | chromosomes? e St d S pros/ K el ko | 287
(A) | Spermatogonium | (B) | Primary spermatocyte A 8, | () Sy (=)
Secondary
(C) | spermatocyte v | (D) All of these e (2) S g Sk @)
In animals process of reproduction without . _ .
290 | fertilization is called: A fcf"}:,g-sdhé-ﬂ,éfﬁcﬁflk’)uﬂwﬁlr 290
(A) | Parthenocarpy | (B) Partheno genesis S (+) i (=)
(€) | Tissue culture | (D) Fission o () A4 ()
Which part of the female reproductive system
297 | receives egg cells from the ovary? S b /U d K Lia ot o6 gl | 297
(A) Fallopian tube | (B) Uterus S/ (+) T (=)
(C) Vagina v (D) Cervix s (2) e @)
208 | External fertilization occurs mostly in: Xeg-dorluinicf 7S 21 | 208
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Aquatic
(A) | environmentv | (B) Hot environment S S () ety (3h)
(C) | Moist environment | (D) Dry environment N () LAl @)
304 | Double fertilization results into: e BRE LSRN | 304
(A) Ovule (B) Egg L («) Jifss )
(C) Tnplm;iuirl'ledunssperm (D) Dlpliljﬂf::; ilrJerm ez | 0) | Frrakizys | (@)
The process in which genetic material of one ru{:.-,-.rw’ Jﬁl":djdf H”@mdhﬁ'c&f"
314 | generation is transmitted to next is known as: <« | 314
(A) | Reproductionv | (B) Respiration L (+) i (=)
(C) Reduction (D) Inheritance s (s) Y (2)
Transmission of character from parent of offspring is .
315 | called: i bbb otiator® oty | 315
(A) | Inheritance v | (B) Mutation = x (+) B (<)
(C) Regeneration (D) Reproduction Sy () Bty (@)
319 | Genetics is the branch of biology in which we study: waAPr‘»fu‘?q-wHJﬁ!ﬂﬁ 319
(A) Functions (B) Fossils M () B ()
(C) Inheritance v | (D) Evolution A (2) =Hs @)
An organism expressed physical trait, such as seed )
320 | color or pod shape is called its: O PSR e i n Sk | 320
(A) Genotype (B) Phenotype v/ A (+) S (i)
(C) Karyotype (D) Physical type o (2) il ()
324 | Genes consists of: S | 324
(A) RNA (B) mRNA mRNA (+) RNA (=)
(C) Protein (D) DNA DNA (2) Fag (@)
325 | Inherited characters are called: Ol eher® 10 | 325
(A) Genes (B) Trdits./ S («) 2 ()
(C) Genetics (D) Fertilization RIS (2) S @)
DNA wraps around a‘histone protein and forms a £+m’{ 4 df"g”[""mw”m“ﬁ"wh“wﬁ
329 | round structure called=Q W& | 329
(A) Polysome (B) | Nucleotide Kk (+) (ros (=3h)
(€) | Nucleosomew/ | (D) Phosphate e () ey (@)
330 | Model of a DNA structure was presented by: WL A eS| 330
(A) Mendal (B) Watson and Crick v S (+) Jrx (=)
(C) | Charles Darwin | (D) C.D. Buffon gty (2) S e @)
336 | The alternate forms of gene are called: AV e e | 336
(A) Alleles v/ (B) Alternatives i AT (w) X =)
(C) | Multiple alleles | (D) Characters S (2) Aty @)
337 | The alternative forms of gene are called: SV Iplfsg | 337
(A) Chromatin (B) Alleles v e (+) S/ (=t)
(C) Locus (D) Histone Ok (2) J @)
The specific combination of genes in an individual is
340 | known as: bW 2 2 LT | 340
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(A) | Phenotype v | (B) Genotype S - 5 (=)
(C) Homozygous (D) Heterozygous i (2) Eivn @)
The physical appearance or colour of an organism is
341 | called: et a6 s’ | 341
(A) Genotype (B) Karyotype Ty () FE =
(C) | Phenotype v | (D) Physical power Ry (2) 5 (@)
Physical appearance of organisms such as colour .
342 | and height, etc are called: Mlm,c‘rﬂﬂf-ﬁ')f:#hdﬁﬁfﬂf&f 342
(A) Genotype (B) Phenotype v A (<) S (i)
(C) Karyotype' (D) Genome = () = (@)
An organism expressed physical trait such as seed .
347 | shape or pod colour is called: e QU P IS LN clor® L 6 S L1 | 347
(A) Karyotype (B) Genotype S (+) Ftid (=)
(C) Phenotype v/ (D) Chemical type Sk (2) s @)
348 | Albinism is a/an ......... trait: it il KirH | 348
(A) Dominant (B) Recessive v - () Wl (=3)
(C) Co dominant (D) Incomplete dominant s M (2) s @)
On which vegetable, Mendel carried out a large
352 | number of experiments? SEa ol S LS ey | 352
(A) | Gardenpeav | (B) Tomato A (w) s (<3)
(€) Potato (D) Cabbage s (2) I (@)
354 | The term true breeding means: e W EL b | 354
(A) | Homozygous v | (B) Heterozygous 05 («) VI (=3)
(C) Same (D) Different i (2) G L (@)
A cross in which one character is studied at.a time is FM“;*L%(’JPKﬁfﬁ&'@'ﬂ#’"ﬁdm}yﬁ
396 | called: ' | 306
Monohybrid cross o
(A) v (B) Dihybrid Cross 13 A0 (+) ST ()
(C) Test cross (D) | Back cross Sk () St @)
An organism has two different-alieles for a single i Lnsty IMB g £ acr? LAl
361 | trait, its genotype is: Lt Wi | 361
(A) Homozygous (B) Heterozygous v/ e (+) Ui (=3)
(C) Homologous (D) Homozygous A (2) S @)
368 | Human blood group AB is an example of: e JOLIABs UKLl | 368
Complete . g
(A) dominance (B) | Incomplete dominance S M (+) Vet (=)
(C) | Co- dominance v | (D) Recessiveness JH e () ST (@)
369 | The example of co-dominance is: =+J'~‘-'Ju:'-1'"’ 37| 369
(A) | Blood group A | (B) Blood group B B/t («) Ao/ ik (31)
(C) | Blood group AB v | (D) Blood group 0 O/ () ABs.s./ ik @)
The term arfificial selection was expressed by the
376 | scientist: 0/ A LA S TSRS~ | 376
(A) Aristotle (B) Theophrastus I (+) £ (3)
(C) C.D. Buffon (D) |  Abu RayhanBairuni v b el ) () Tt @)
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Who proposed the mechanism of organic evolution in )
377 | 18387 Wi K3 PGB0t 1838L 0" | 377
(A) Mendel (B) lan Wilmut e T (+) Jrr (<)
(C) | Charles Darwin v | (D) Buffon o (2) i e @)
378 | In artificial selection, the bred plants are called: B oS Er S P sy S~ | 378
(A) Breeds (B) Mutation S (<) Y. ()
(C) Lichens (D) | Varieties or cultivars v/ Vel () b @)
381 | Darwin proposed the theory of: SBEE i | 381
(A) | Special creation v | (B) Natural selection 2. (+) G 5 (=3)

Use and disuse of )

(C) organs (D) Mutation Ut () | S e | (g)
384 | Such plants whose breeding is carried out are called: (WO EaSPesyn | 384
(A) Cultivores v/ (B) Breeders s () b (=)
(C) Carnivores (D) Insectivores i) (2) Sugr ¥ @)

Which of the following is the abiotic component of
385 | the ecosystem? PAS N TP e Sttits | 385
(A) Producers (B) Herbivores sy («) Jreig (=)
(C) Carnivores (D) Oxygen v T () i @)
386 | When was eat onions, our trophic level is? et S UM NI B iz | 386

Primary consumer . o
(A) v (B) |  Secondary consumer I SRk (+) ri78 A, (=)
(C) Decomposer (D) Producer Pk (2) Py @)
389 | All the ecosystems in the world together form the: (Bt S S A AL | 389
(A) Population (B) Biosphere v/ ! (+) S (=3)
(€ | Community | (D) Habitat oy () 5 (2)
390 | Biotic component of an ecosystem is: e B EAKFT 4| 300
(A) Light (B) Water & (+) o (31
(C) Air (D) _Plant v <y (2) (2 @)
392 | An abiotic component.of an.ecosystem is: =+}-¢th4-'5}’" g 392
(A) Producer __ | _(_Eﬂ_lr Consumer ri¥ () s sy (=)
(C) Decomposer (D)4 Light v O] (2) P @)
395 | Which one is a.iertiary consumer? Tﬁ'—-fﬂf S hufe e | 395
(A) Frog (B) Rabbit S () S ()
(C) Wolf v (D) Lion Vs (2) ¥ @)
396 | Decomposers are: s | 396
(A) Algae (B) Mosses véa (w) J (=)
(C) Animals (D) |  Fungi and bacteria v 253 (2) e @)
399 | Itis the example of a tertiary consumer: %dﬁJfﬂfdff 399
(A) Wolf v/ (B) Snake i («) Ve ()
(C) Lion (D) Frog S a () b2 (@)
400 | Which one of the following is a tertiary consumer? Yo 178 Ifvl e | 400
(A) Deer (B) owl v ) (<) o) (=3h)
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(C) | Larvae of butterfly | (D) Rabbit Ji 7 () ot ()
406 | Basic source of energy for an ecosystem is: e ABBKENL L £ | 406
(A) Plants v/ (B) Animals Sl (+) <>y (=3h)
(C) Sun (D) Water d (-) Cor (@)
408 | Naturally found graphite and diamond is: i te S Loz b3S | 408
(A) Nitrogen (B) Carbon v i (+) S (=)
(C) Oxygen (D) Hydrogen O rik (2) S @)
409 | The basic trophic level for all food chains is: e b L ISKABS R | 409
(A) |  Producersv | (B) Consumers V2 («) sy, (31)
(C) | Decomposers | (D) Reducers .y (2) pry @)
Formation of nitrites and nitrates from ammonia is
411 | called: e QWA A frai | 411
(A) | Nitrification v | (B) Ammonification S (+) Jﬁ?‘f’r (=3)
(C) | De nitrification | (D) Assimilation T () J’:ﬁf’rﬁ @)
1o ::5 :;1;13; iasnglllll;td :::f living matter in an ecosystem at =-=r-(3 s Ja.:hﬁgt(’" Y Lf{;ﬁﬁidﬂ 0/ 4o
(A) Food web (B) Food chain Dl (<) wr? (=)
(C) Fnergy (D) Biomass v/ L (2) g @)
414 | Mosquito, lice and leech are the examples of: JedEzasz A | 414
(A) | Ectoparasite v | (B) Endoparasite S (+) )T (=)
(C) | Obligent parasite | (D) Both A and B L s (2) By el @)
Which relation exists between termite and protozoan
416 | is: S 2 A IS e nLsidsym e | 416
(A) | Mutualismv | (B) Pfedation ey (+) e ()
(€) | Commensalism | (D) Pafasitism P (2) s ted (@)
The amount of carbon dioxide in air is increased
426 | since 1880: e §or 3 ST 3B K 2w = 1880 | 426
(A) 0.2 (B) 0.3 v 0.3 (<) 0.2 (=3h)
(C) 0.4 (D) 0.5 0.5 () 0.4 @)
431 | The non renewable reSolirces are: S ond St | 431
(A) Fossil fuels.v/ (B) r Air I () S ENE )
(C) Water (D) Soil S () i (@)
432 | Materials which can again be reused are: (B o E A T2 | 432
(A) Plastic (B) Glass A (+) £ (<)
(C) Paper (D) All v v (2) ¥ @)
Which form of nitrogen is taken by the producers of
433 | the ecosystem? AT PRI e Fofi il £ | 433
(A) Nitrogen gas (B) Ammonia L (w) A (=2)
(C) Nitrites (D) Nitrates v/ CEA () I F (@)
o T i s 0 | b L ol oo
434 | sheep? tdt e Edz | 434
(A) | Sheep (Dolly) v | (B) Goat SA (+) (Us) & (=2)
(C) Cow (D) Buffalo el () ¥ @)
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435 | The pain killing chemical formed in brain is: e S it | 435
(A) Insulin (B) Interferon 2 () ) (=)
(C) Thymosin (D) Beta endorphin v o kit (s) o (@)
437 | The human genome project started in: nls foLs ke Ll | 437
(A) 1990 v (B) 1991 1991 (w) 1990 (=3)
(C) 1992 (D) 1993 1993 (2) 1992 @)
439 | Which one is fermented food? teulbiiis et | 439
(A) Wheat flour (B) Powdered milk w3330l 55 (+) Tl (=3)
(C) Vitamins (D) Yogurt v S (2) A @)
441 | Human insulin was firstly prepared through bacteria: S b s 5Ly 250 P10V | 441
(A) 1970 (B) 1978 v 1978 (+) 1970 (=)
(C) 1990 (D) 2002 2002 (2) 1990 @)
442 | The organism involved in alcoholic fermentation is: i o Re gt Sl | 442
Saccharomyces
(A) cervisiae v/ (B) Streptococcus Vb () S cduk | ()
(C) Lactobacillus (D) Fungus Ve (») LG @)
In the first step of a glycolysis, one molecule of a wLn S EISBAA 2l KL E
443 | glucose is broken down into two molecules of: =-f-t"-'d’:c?’- 443
(A) Citric acid (B) Lactic acid SR (+) S ()
() | Pyruvicacidv | (D) Formic acid Ll (2) y ) @)
Microorganisms used in the production of formic
444 | acid is: AL eSS RS2 P | 444
(A) Aspergillus v (B) Saccharomyces el () Ve (i)
(€) | Streptococcus | (D) Babillls e (2) Lv./::*f’-u’iff-f-ff @)
448 | Fungi used in alcoholic fermentation is called; :'FG"LJL‘HL:J? Jlefizdde | 448
Saccharomyces ) o
(A) carvisiae v (B) Jr Basidiomyceter s (+) Ol (=2)
(C) Zygomycetes (D) | Algin e (2) S @)
449 | The product used in/printing is: eIl eIt By | 449
(A) Formic acid (B) Acrylic acid Y (=) P (=2)
(C) Ethanol (D) Glycerol v Jr ¥ (2) JI @)
459 LI:HQ:LFGGHII:::'SSI:f:g|UEUSH molecule breaks into two +M ..;?Lu[_' ********* f..;.ﬁJ {E'mf ;‘u.‘.' /-.fu ,ﬁl’ 155
(A) Formic acid (B) Lactic acid L (+) J Ty (=)
(€) | Pyruvicacidv | (D) Acetic acid e (2) i Si7 @)
455 | The source of lactic acid is most of the: a-#w,.z.&w"'-ﬁ Jra 0 | 455
(A) Fungi (B) Algae ke («) g ()
(C) Bacteria v/ (D) Protozoans Hidsy () s @)
457 | The industrial product produced from asperginus is: e a3 Bl bt tie U 44 | 457
(A) | Formicacidv | (B) Ethanol Jo (<) LAl (=)
(C) Glycerol (D) Oxalic acid LI (2) Jr @)
459 | In genetic engineering, plasmid is used as: LA L. S SAEFE B | 450
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(A) Vector v (B) Endonucleases et s (+) I (=)
(C) Ligases (D) Donor % (2) Al @)
450 | brainand lng cancer e S DEnty i L Loomiionrio | a6
(A) Insulin (B) Ligases all (+) F ()
(C) Thyroxin (D) Thymosin v " () ol (@)
The enzyme which is used to cut the gene of interest
462 | is: e b Uzl LLXELLGH | 462
(A) | Endonuclease v | (B) Ligase 2l (<) yad T (=)
(C) Amylase (D) Lipase g (>) Adu @)
The foot and mouth disease in cattle, goats and deer
465 | is: e Sl S L p U Sty | 465
(A) Bacterial (B) Viral v Js («) J 2 ()
(C) Fungal (D) None S8 (2) S (@)
468 | Human insulin gene was transferred into: WU v | 468
(A) Yeast (B) Bacteria v/ L2 () S ()
(C) Virus (D) Algae A () AU ()
469 | Insulin is used by patients of: WJZSIE L PP | 469
(A) Hepatics (B) Cancer A (<) Ual® (h)
(C) AIDS (D) Diabetes v/ A (2) Y (@)
473 | Which of these is an anti viral protein? techsgmIfisoiate | 473
(A) Urokinase (B) Thymosin A (+) Ky ()
(C) Insulin (D) Interferof« 2 F () F ()
The big source of energy for all ecosystem of the
476 | world is: i A MENL LA EIR L | 476
(A) Bulb (B) Siin v/ Lo () 4 ()
(C) Fire (D) Meon s (2) S (@)
The substances used for the treatment, cure,
481 | prevention or diagnosis of disease are called: LAl bin )RS psenld s | 481
(A) | Medicinal drugs v |/(B) Narcotics S (w) =l (=)
(C) | Hallucinogens~. [(D) Sedatives e () SIS ©)
283 | Streptomycin drugis obtained from: =q.filgdU" el Jl#,z‘-"’ 483
(A) Fungi (B) Animals = Usdle (+) = J¢ (=)
(C) Bacteria v/ (D) Plants Uy () =l @)
284 | From which painkiller drug morphine is obtained? teded e A b | 484
(A) | Foxglove leave | (B) Opium v L («) ez LESG (=)
(C) Fish liver oil (D) Fungi J¢ (2) Lo ¥ @)
285 | The drugs which are used to reduce pain include: i LS L LS snzaishs | 285
(A) Antibiotics (B) Vaccines el (<) LG (=ah)
(C) Analgesics v’ (D) Sedatives S (2) S @)
The drugs which reduce the possibility of infections
288 | on skin are called: =+Jf|"f=~'/"55cfg LM 2zl | 288
(A) Antibiotics (B) Sedatives ke () Sl ()
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(C) | Antisepticsv | (D) Vaccines ak () S G @)
Which scientist promoted the idea of sterile surgery .
290 | for the first time? WS LSz, S oz pS A | 290
Alexander _ .

(A) Flemming (B) Al-Bairuni do («) Lokl (i)
(C) | Joseph Lester v | (D) Alkundi S (2) L @)
Joseph Lester introduced an acid to sterile the S LLS AL S P AT p L i
291 | surgical instruments and to clean wounds: W/ ShdaL | 201
(A) | Carbonicacid | (B) Acetic acid T (+) kLK (i)
(C) Nitric acid (D) Carbolic acid v/ SRS (2) ISF (@)
292 | Diazepam is a type of a drug: %‘-r" lﬁ'-E?J-fviriiili 292
(A) Analgesics (B) Antibiotics S (<) o ()
(C) Sedatives v (D) Vaccines Vel (2) ik (@)
293 | Which of the following disease is cured by vaccines? 'f’{-h‘?k(acrﬁ&lﬂ’dshd Wty | 493
(A) Diabetes (B) Hepatitis-B v/ Bt - 00 ()
(C) Cancer (D) AIDS 4 ) AR
204 | Penicillin was discovered by: Wedad 25 | 204
(A) Lamark (B) Darwin Ll (<) LS (=)
(C) Robert Hook (D) |  Alexander Fleming v/ SOy (2) L sss @)
295 | Drugs (medicine) derived from minerals: O TSIl S e cts | 205
(A) Morphine (B) Aspirin LA (+) A (=)
(C) Antitoxins (D) Tincture ioding LT (2) G @)

Study of composition and medical applications of
296 | drugs is called: 2 o LS S Sadol | 206
(A) Mycology (B) BioteChnology GAE L (+) SAEL ()
(C) | Pharmacology v | (D) Physiology Sl (2) S (@)
299 | One of the drugs derives from miinerals: e ded S bt PS8 Lisof e | 209
] . ,
(A) Aspirin (B) Opium oL (+) oA (=3h)
(C) | lodine tincture v | (D) T Streptomycin o Qs () AT td)
Medicines which-induce-sedation by reducing ) _
301 | irritability and execiiement are called: B A ISP ) r" S AESS | 301
(A) Analgesics (B) Antibiotics A (+) U (=3h)
(C) Sedatives (D) Vaccines Vet (2) i%de (@)
Which of the following drug is obtained from )
303 | bacteria? fe-Qbd bt 2wl | 303
(A) Aspirin (B) Peracetamol Jrlet 7 (<) o4 ()
(C) | Temamycinv | (D) Streptomycin o0l () o QU (@)
Which of these addictive drugs are also used as ) ‘
307 | painkillers? Stbnde b Lol 1561 | 307
(A) Narcotics v (B) Sedatives %A (N ok ()
(C) | Hallucinogens | (D) All can be used iz (2) petitie @)
311 | Mescaline is obtained from a plant: "ﬁ-@ﬂd" bm,ﬂsf wﬁj!'i-: 311
(A) Opium (B) Cactus v/ ad («) OPd )
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(C) Maize (D) Brassica gl (2) g )
312 | Psilocin is obtained from: tedn ey K | 312
(A) Algae (B) Funaria P (<) J (w31)
(C) Bacteria (D) Mushroom v/ o1 (-) L5 @)
313 | This group includes mescaline and psilocin: XSutdn et flrﬂlc)-'!‘:ﬂ.ﬂfﬂrt/ 313
(A) Sedatives (B) Narcotics Sty (+) e (=)
(C) | Hallucinogens v | (D) Vaccines s (2) SIS @)
320 | Antibiotics inhibit or kil the: (ML | 320
(A) Worms (B) Viruses 7 s () 793 =)
(C) Bacteria v/ (D) Yeast L (2) L t
Which one of the following disease is cured by
322 | vaccines? fe bl e ik Ly | 322
(A) AIDS (B) Cancer A («) i ()
(C) Smallpox v | (D) Malaria L2 (:) e (@)
326 | How many bronchi are there in the air passageway? L E Sz Lin | 326
(A) One (B) Two v 1 {(ufl L (=2)
(C) Many (D) None 7 34 (2) e @)
| Gl )
Q1. Write short answers of the following

questions. o~

W/ /4 ; =2 /zf LellySsoi

1.Define cellular respiration. BV P AR o
2.How does gaseous exchange in plants take placa? te-tb ,,4' _;}Fm,.! Sung .2
3.What are stomata? Write their function. Lttt 3
4 What are lenticels? What is their function? < ;wkrww,-;wg;kdif A
5.How will you differentiate between a stoma and lenticels? v Ly S LG LT 5
6.Differentiate between breathing and respiration. SIS enl RS LEL S 6
7.Describe aerobic respiration. L EJM}E._{_.-..{;}.;J N
8.What is the function of'hairs and mucous in a nasal cavity? ?‘P'quf,:#ju,ll,uﬁ&{dﬁ 8
9.Differentiate between masal cavity and nostrils. Tfl._u")gugy)fwa{d;g 9
10.Differentiate between a-glottis and an epiglottis. _L{,f’ljjpgjﬁ@,ulf A0
III112.How sound is produced in larynx? 'I‘q_&;ﬂﬁé?hfbﬂg/{)é A1
13.Wha:|t is trachea”? How does cartilage in its walls keep it from Lg:;L)“leb)ufd{JfﬁﬁfLﬁl..’!-f’t-*lfu"”f—k@:} A2
collapsing? y

14 What are alveoli? Write their function. i, fgkrwﬂwwgu#h 13
15.What are pleural membranes? Write down their function. < f%rwﬂwtﬂkrl:{ﬁ”dﬂ-}‘ 14
16.Define oxygenated blood. I }Jjwjf:’ﬁf 15
17.What is the difference between inhalation and exhalation? P ;m;d!.é, s J::':‘,’ I 16
18.Differentiate between bronchi and bronchioles. 7 LI E s mss AT
19.What is emphysema? Give its symptoms. L e St ledh 18

For more, Visit (www.taleem360.com) & (www.ustad360.com)




20.What is Pneumonia? Differentiate between single and double LIPSl S s iy 19
pneumonia.

21.Define asthma and give its reasons. _L{fwg_&g,,fw?q_g’_u .20
22 Write down the common symptoms of lung cancer. , ft:'h-—"—“kr"l; AL s % 21
23.What is passive smoking? How it is harmful? eSS Sl B s 22
24 What is nicotine? What are its harmful effects? L e }nm_-f....ﬁiw?.l-_],f’cﬁf 23
25.How smoking affects teeth? Ce Qs b o b 24
26.Define homeostasis. Give two examples. N L;!a-,,_gf - }J;_,rd"’ wn 25
27 What is the difference between osmoregulation and e GRS Loy g e 26
thermoregulation?

28.How homeostasis of CO,andO; takes place in plants? tel Hd_{u"-'*" 2n§0; » COz tuny .27
29 Differentiate between turgidity and guttation. ‘UIIJ}L;%HJ#} .28
30.What is the difference between resins and gums? S 3V L;;C;uﬁ:;,; .29
31 .Diﬁleégntiate between hydrophytes and xerophytes. Give one DIt Y C D ity 30
gg?[ll%né halophytes with an example. e Ly S w PSS bk 3
33.Define osmosis. Se YU s 32
34 What is the difference between latex and mucilage? P ;’k"u!é" 2 ,,;u-e.:' .33
?uﬁﬁcﬂtgnsélf:n consists of how many layers? What are their - fi:-'k /-*,';ﬁf_www‘} mﬁ (f/ J Al 34
36.How slkin keeps our body cool? ?ﬁ-_@( Y Ry (” e 35
37.What is the shape, size and weight of kidney? S bl s ALl 36
38.What are the important parts of nephron? ?L.E.:.-u.!fu}fiﬁlcﬁu;:ﬁ 37
QB.What is a renal corpuscle? Write the names of its two -ufdrtﬁur’ﬁfﬂﬁ:w?q-!ftﬂ K, .38
important parts.

40.Differentiate between renal corpuscle and renal tubule: LISt ek, 39
41 Differentiate between renal cortex and renal/medulia. LA L F ,_,,.,_;?_,(bla_. 40
42 What is pressure filtration? S Ut a4
43.What is glumerular filtrate? e o)y ef 42
44 What is meant by selective re ‘@bsorption?How it occurs? ¢ 'i'-J ,,g., {_ffg ol fg;ﬁ‘,wdj,;ﬂf 43
45 Differentiate between pressure-filtration and tubular secretion. I L)t i P Ao 44
46.Differentiate between hilus and-pelvis. NIRIN N J,,ulf,‘ 45
47 Write down any twg major causes of kidney stones. Az ndS AbesS 46
48.What are the symptoms of kidney stones? J f,_.;k_._,m,d’g ,;;JHI AT
49.What is lithotripsy? PV S A8
50.Write contributions of Abu-al-Qasim Al-Zahravi in biology. NS ENAT)S FOULEIL, 49
92 What is meant by dialysis? Write the names of its methods.’ —ufﬁﬂﬂuﬁfwff+ﬂlf¥’¢7’£li 50
93.What is kidney transplant? P ,»y’ .:...uty"l}aif 51
54 Which problems may arise after kidney transplant? g-u_,é_,ﬂ ﬁlﬁ,,, ey, J’JZ-'-*-"WJ' ;{; i 52
95.What is meant by tissuery junction?’ Tl i =y 53
56.Define coordination and write down its types. _‘.,;-dru,Jw oS }JJ'.."-M S 54
57 Define stimulus. Give any two examples. _q,,_f_’p.,,o-éﬁq_k(j,ﬁ' 55
58.What is meant by coordinator? Give their examples. DA o e 8T 56
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59.What are effectors? Explain with examples. S el st Ll ¥ 57
60.Define response. Give one example. oL P2, 58
61 .D&ﬁfsﬁrﬁgﬂqm between nervous coordination and chemical L/ 3 ST S ST s 59
Eg?‘l.;.r'hat IS al neuron? Write the names of its two parts. -Ufﬂr'-' Lur?nl ySelfomni .60
63.Differentiate between dendrites and axons. NIAIN s AL
64.Describe the function of dendrites and axons. LSS E i U 62
65.What are the types of neurons according to their functions? ?wrmd” Soge WLy 63
66.What is the difference between sensory neurons and motor S GV LIy S A 64
neurons?

67.Differentiate between sensory and motor nerves. SIS Snir S e 65
69.What is a hypothalamus? Give its function. e ¥, J'?‘i'-kr u,‘_.gf 2 .66
70.What is midbrain and its functions? Where is it located? ?,!._n!ﬁu( ,:,_qf wu’s’mﬁ?q_mﬂ .67
71.What is spinal cord? Write its functions. S eSS 68
72 What is somatic nervous system? Yl Uiy 69
73.What is autonomic nervous system? te UL 10
74 What is the function of sympathetic and parasympathetic < /Wrw‘}-’w PPN [
nervous system?

75.Differentiate between voluntary and involuntary actions. _qju"}‘gﬂjdﬁ,,wwgﬁlﬂ 72
76.Differentiate between reflex action and reflex arc. L) }ug_ﬁ,fuéf ”,g,_.;"—ﬁ,lg‘!‘, 13
78.Differentiate between sensory nerves and motor nerves. _szafiu:j,‘;;ﬂ,uﬁdﬁ 74
79.Differentiate between central and peripheral nervous system. —Lifthquﬁﬁ‘/wﬁdﬁﬁ#U}&’ 75
80.What are receptors? Give their examples. LSSt 76
51. .Diﬁergntiateq between aqueous humour and vitreous humour. < fuhrféu' NN /‘;ﬂf:ﬂ 77
Give their functions.

82 Write two disorders of eye. ol wkfﬁ'mﬁ.ff .78
83.Differentiate between Myopia and Hypermetropia. LI LA Ll 79
?;3:\;232 ishypermetropia and its causes?/How. it can be te P m Sy Sl Ute o £, .80
85.How ears maintain the balancé of body? szl _,jum;,;:(?; PSS 81
86.Why Ali-lbn Isa is famous for? st q’.f.rb’u" SEF 82
87 Write function of oxytocinhormene. _u:"f c.‘-‘-@rw,ﬁ,;urﬁgﬂr .83
88.Differentiate betweern hypothyroidism and hyperthyroidism. ¢ ,'._J }k’,h‘fr-“ M/Jl} £l Py ,{jw & .84
89.Write the function of parathyroid gland. Y fwrwﬁ wdeis 85
91.Write down the functions of insulin and glucagon hormone. - fﬂkwtguﬁ('z Ky JIC,L.J;K,‘ .ulc"-J:jl 86
92.What is meant by feedback mechanism? How the secretion of te bl SRS r A A pols 8T
hormone is regulated?

f'a:é{[i.‘iéf;ifntiate between negative feedback and positive NIAIRNAT ;:g PRATTIYEN:"
94 Write t.he causes and symptoms of paralysis. _L{f ,_-;g.:,uu;;r.;;g;&é,ﬁ .89
95.What is meant by goiter? fest Ve F1f .90
97 .Differentiate between cartilage and bones. 7 wkj)¢d;;,ig;r 91
98.What is meant by movement? Describe its types. SIS st p irsy 92
99.What are the types of a cartilage? In which organs they are ?;ELkLkuﬂwfrTJ(g-L{ft&:rﬁ'JGEX .93

found?
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100.What is an elastic cartilage and where is it located? Give two
examples.

.g{:;}:'ﬁ'udlu’l?q.b@-%ulﬂlﬂ.‘i'q_y/&k};r_ﬁ!hl 94

101.5tate elastic and fibrous cartilage.

SISy PSE Ky A 95

102.Write down the interrelation ship between estrogen and
bones.

?{_JN L-Q,}:Lf}.rﬂcﬁjﬁl .96

103.Differentiate between chondrocytes and osteocytes.

LIRS sl S ke 9T

104 .Define joints. Write the types of joints. Write their names and
give examples.

-/ .!J-J ﬁ';:l(’bf.u}l_gﬂ'ﬂl rl.j Idj uﬂjr_.q_if - jJ d/}.ﬂ' .98

105.Differentiate between hinge and ball and socket joints.

LI Sesze N asiesizE 99

106.Differentiate between tendons and ligaments.

L3 ptekmi 100

107.Where fixed joints are located?

T;,ELH{M f 248 101

108.What is meant by a flexor muscle and flexion?

Tq..dfy/:-wtgﬂ #F /? 102

109.What is meant by an extensor muscle and extension?

Yl ,-y’;,ﬁfmu"" /"Sl"“l 103

110.Define flexor and extensor.

LT3 AP 104

111.Differentiate between biceps and triceps.

LB S By 105

112 .Differentiate between antagonists and antagonism.

Ui S S 106

113.Differentiate between flexion and extension.

S LSS A0T

114 What is the difference between origin and insertion?

??J}kﬂﬂu# /Jl.uh;ﬁﬂl 108

115.What is osteoporosis? Give its symptoms and causes.

.{,}:J ms;;lmtfqu_gu" :.f{.t“"ﬂ 109

116.What is arthritis? Give its symptoms and treatment.

_u:'“’a,mm_-,tmdlrwq_y’fr)‘ﬁ 110

118.What is gout? Write its symptoms and causes.

S S s 11

119.Define reproduction. Give its importance.

Sl eSS/ L{cﬁ:,gu 112

120.Differentiate between sexual and asexual reproduetion.

..q'/" J);ﬂu’fh‘g.ﬂfr? LJJ.'I'-IJ'F."QJ 13

121.How does binary fission take place in unicellulareukaryoies?

te 3l S P AR LA K3y 114

123.What is budding? Give examples of organisms.which
reproduce asexually by budding?

S e 8 L Bsr e Suisentef £y 115
] c)y}: -y

124 What is the difference between sporés.and spur_a-ngia?

S SRy iy 116

125.How budding occurs in invertehrates? Give example.

el s dnd AL L T

126.What is binary fission? How-do bacteria reproduce asexually
by binary fission?

SE IS L BLP S S SF 118
?LEL; dl"(fr ¥

127.What is meant by.vegetative'propagation in plants?

S p et Uy 119

128.What are bulbs? How piaﬁts reproduce vegetatively by
bulbs?

TLELfc)"!!*r.;}fﬁb)Jugutﬂ?myﬁ 120

129.What are corms? How they help in reproduction?

U rS ;ﬁwﬁwq?w&( il 121

130.How plants reproduce by suckers? Give example.

LS p A S syl 5L A2

131.How plants propagate vegetatively by grafting? Give
example.

fmdmmz,)g’gg;&)ﬁﬁuf 123

132.What is the difference between cutting and grafting?

?q_.J)],,fu: B S B 124

133.What are the disadvantages of vegetative reproduction?

et £ P 22 125

134.Define cloning and tissue culture.

ISP K 126

135.Differentiate between binary fission and fragmentation.

%—J/‘k‘iﬁ# S8 A 27

136.Differentiate between sporophyte generation and
gametophyte generation.

SIS ,:z._u'ﬁ};ﬁ';rw‘? 2 128

137.What is meant by alternation of generation in plants?

Tl /!fr;cﬁ A ..:Tc}*f }JT ;ﬁu.u,z! 129
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138.What is meant by sporophyte generation? tesl e el 130
139.Define self pollination and cross pollination. e /’Jd’fdt 1l cﬁd{ Sk 131
140.What is double fertilization? ?+y’cﬁf1y}Jj 132
142 What is a seed coat? Write its functions. L erste e i 133
145.What is epigeal germination? Give its examples. "y Ju:'l'i‘urwfq-ifwm ‘g&g@ 134
146.Differentiate between epigeal germination and hypogeal e )},Jiﬂc;‘ﬂ ngﬂulv‘-ﬁ: 28 135
germination.

147 What is fertilization? And write its types. _,J:‘U'f ru;d’wfq_gﬁﬂy} 136

148.Differentiate between internal and external fertilization. SIS RFAIS HiaS g A3T
150.Define follicles. What is present inside it? et ol - gy P UK 138
152 Differentiate between epicotyl and hypocotyl. LIRS J,IJ‘};@ 139
154 What is meant by gametogenesis? P ‘,l_,rg_u-‘k.’ }_-.ﬁ_"' 140
156.What is semen? And write its composition? S jﬁrddfﬁff_y'cﬂf 141
157 Differentiate between prostate glands and cowper's glands. JACP R 456000 ;j;_.f_s,gv,{ 142
161.Define Genotype and phenotype. _g.'."f._y }Jf‘t}fﬂif’ﬂ}ﬁ 143
162.What do you mean by homozygous and heterozygous? a P M,_Uguj S0l ugu v 144
164 .Differentiate between genes and loci. J/0 sz 145
165.Define transcriptions. iy S ;Jﬁ yey 146
166.What are homozygous and heterozygous genotypes? -;wgdg;g,_,-?u, }ﬁﬂ"f?u:‘ w 147
167 Differentiate between transcription and franslation. fe )y’u:w"r’:”, Iolefe P 148
168.Define genotype and phenotype. ted )jy"_gfzg_;g gAts® 149
169.Define genes and alleles. LS SRz 150
170.Write any two main points of Watson Crick model of DINA: < jw‘._,@(:,y d fidjggc{.‘gjﬁ_(fd)h 151
171.Differentiate between Artificially and naturally selection: < JEWG) Lt G = 152
1ﬂ'§|.::23t is the difference between dominant and recessive LIS LM sy 153
??3.Wﬁat do you know about Gregor.Mendel? S T AL b L7 154
175.What is a monohybrid cross? fest e 1S3 4y 155
176.What is Mendel's law of sagregation? %fwkﬂﬁ_ﬁ,nmﬁ; 156
177 What is a dihybrid cress? ?‘4-_!,@)3 2\ 157
178.What is Mendel's.|aw. of independent assortment? e lfesd a6 ke 158
179.What is meant by truetreeding? el ,g;._ﬁ/__.; 159
180.What are dominance and ressalas? t Ll K sy 160

181.What is co dominance? Give examples.

WP e U 161

182.What is incomplete dominance? Explain with examples.

-L{f #ﬁ:ﬁ-u:'ﬁ‘fyl fkra.g:';::.idﬂt

162

183.Differentiate between co dominance and incomplete
dominance.

LS LSS e 163

184.Write two characteristics of discontinuous variations. LSk e d S 4 164
185.Define continuous variations with examples. Lo Sy FEea S S 165
186.What is theory of special creations? f‘l-__y’d,,gg’;aﬁ’ U 166
187.Differentiate between natural selection and artificial PRV U< g #0.8 167

selection.
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188.What is the difference between breeds and cultivars? feJ VL ;,,,L?’;,; iz 168
190.Differentiate between carnivores and herbivores LIl (K 169
191.What is meant by decomposition? Give an example. L Lites) e ;,;Q;; 170
192.Write down the biotic and abiotic factors of ecosystem. 2l }g_;f;_,“,,._fﬂ;ﬁ £ 171
193.Differentiate between ecosystem and biosphere. NN - ;;""fp,lﬁ" £ 172
194.Define food chain and food web. SIS ersi s T3
195.What is a tmphlin: level? Write the names of different trophic -u:d LI BIB L st VUL Gi2 174
levels of a food chain.

196.What is meant by nitrogen fixation? Sl ‘,y’;,;f.:" SaFt 175
198.What is assimilation? el s 1 AT6
199.What is meant by de nitrification? S p e P0G Fss ATT
200.What is a food web? Sest e estd 178
201.What is meant by an ecological pyramid? § gl f.lﬁ"-ﬂfkﬁﬂ’f' A79
202.Define a food chain. Give one example. oL P Sussi 180
203.What is meant by pyramid biomass? Sl sl LAIAL 181
204 Define predation with an example. e Lt e Py 182
Zﬂﬁ.Diffgrentiat_e between intra specific interaction and inter 4 d }qu:dt.f, £l j;,ﬂ,dt.f. £ #1183
specific interaction.

206.Define symbiosis. Write the names of its types. . L Ui S S s 184
207 What is parasitism? Give some examples of parasites. J _,u_-!pgd’ﬂ Wiatelr A, 185
208 Differentiate between ectoparasites and endoparasited. Give LSy SISt Vs sl 186
their examples.

209.What is mutualism? Give its one example. LS LSl p e et 18T
210.What is commensalism? Give one example. _q,l_jp._gfﬁ._,;fk(;r;kc;‘f 188
211.Differentiate between mutualism and commensalism. e I L k'wr’ﬁﬂr#z‘ 189
212.Define global warming. S S Entf 190
213.What do you mean by deforestation? Seil ol .—-_Jf’ YA 191
214 What are the effects of deforéstation? LSS 5L S e 192
216.What are the harmful effects.of acidrain? LI L JAdE 193
217 What is meant by ozone depletion? Tl fk(;ﬂjuml 194
218.What is utrophication? el ;&";&‘gﬁg 195
219.How is smog formed?Write its two disadvantages. L et L it Gl S 196
220.Differentiate between renewable and nonrenewable "y, SO LB JEEsis s JE 197
;z?EE:;ibe the scope and importance of biotechnology. e ;y.;.:f‘h’&:‘b? #1198
224.Write down the role of biotechnology in the field of LS G A 2 Lo 199
environment. '

225.What is alcoholic fermentation? Sl plf e i 200
226.What is lactic acid fermentation? Give its importance. _qfwkﬂ,ﬁ'JJj?+Jlfy’éH)‘wﬂ 201
227 Define glycolysis. What are the products of glycolysis? 'pwkrufj, (L AEE S PSS 202
230.What do you know about batch fermentation? Tl /kf;ﬁa jALyPs 203
231.Write two advantages of fermenters. _hﬁ'ﬂ Ll i} 204
232 Explain the role of Pasteur in the field of fermentation. ?F‘Jfk(rfﬁbfﬁﬁﬁ&f 205
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233.Define fermentation with reference to biotechnology. I ;L(J—f" Sl 1p L GNE 4 206
234 .Define alcoholic fermentation. LS }JJ‘:** 3 207
235.What is genetic engineering? S }J_E'j#u_@; 208
236.What is genetic engineering/recombinant DNA technology? Sl fggjﬁ,_gfﬂbgt;gbggwg; 209
237 Write any two characteristics of transgenic animals. J fw@?,ﬁ,,d’;;k_ﬁfj 2 .210
238.What are the objectives of genetic engineering? L sl L_{;:g'l_@g 211
241.What are transgenic organisms? ?wq_f..ug.._ﬁfi} 212
242 Enlist the achievements of genetic engineering. "y /S JuLULI,:B‘L...F'/?' e 213
243 What is thymosin and write its function? " fwkrt’fw? e 214
245.What is urokinase? What is its use and how it is obtained? ¢ ﬁ.__&r&_j-'k & g SN IS S H Koy 215
246.What is vector in genetic engineering? fesl e ;E',u:_s'j:j L2 216
247 What is meant by gene therapy? fel e Futf 217
ﬁf{ﬂi@at s single cell protein? Why it is called single cell S bl UL ehs S Er o e o S 218
252 What is thymosin hormone? Write its function also. _"g‘fge' B sl P e gy A3, 219
253.Describe the importance of single cell protein. - Skt Sk ,;uk'yr 220
254 What is meant by pharmaceutical drug/medicinal drug? el fy’ﬂk,,‘ﬂ_ﬁ,jyfm 221
255.What is meant by drug? Write names of its two types. Jﬁgru.,,u(mfi_ﬂ e JS3 222
258 What drugs are obtained from animals? sl o S cysde 223
253.Lﬁ;léi;:h drugs are obtained from minerals? Give their names el wL LS beuic p 224
SEE.Write. a note on the work of Joseph Lister. —u-'déi-;rfﬁ Pz 225
263.Differentiate between antibiotics and disinfectants, ~Zokd )L;,_,—‘-'f"? Wisgf A 226
265.What are antibiotics? Give their examples. _L{;dﬁa&;}.l?ﬁ:_gl e F A 227
267 Differentiate between disinfectants and antiseptics, LS }uguﬁ;:’ (ﬁ..,,;,f‘-'—"? IS .228
268.What are addictive drugs? Give their examples. LSSt el S 229
269.What is marijuana? What is its source? J fwujfﬁ,dwﬁ_k(h 262 230
270.Write some problems of drug addietion. 9y fwa Lesz ool ssT B 231
271.What is meant by social stigma? el U .-..If'd’ r. 232
273.What is marijuana? korwhich-group it is related to addictive fe s fg_jgﬂ,,, o7 ,*:FJ"JKJIT.;.LA’I:I 282 233
drugs? .

274 Differentiate between narcotics and hallucinogens. SR Ikt I 234
275.What is vaccine? Name two vaccines being used. _w-“ ¢t Lj{f,d,, st o108l ﬂr,_._u:-&; 235
276.What is the difference between analgesics and sedatives? fe AL jﬁ_&u,l‘u‘e‘-‘ﬁl 236
211 Differentiate between broad spectrum and narrow spectrum te-d I el M‘:,r;g, /_;J,,r;_?;;. 2 .237
antibiotics.

278 Differentiate between bactericidal and bacteriostatic S A RUE Ay 26 ) 26 238
antibiotics.

280.What are sulpha drugs/sulfonamides? S Pl e sdabs L T 239
281.Differentiate between antiseptics and antibiotics. i SR AL ﬂ;ﬂ & 240
282 What is meant by vaccination? Tt _,,-kﬁ.«-_gﬁ"’-"t: 241
283.How vaccines are administered? TLEJ' fﬂéﬁf{* 242
284 .Describe the difference between antigens and antibodies. _qf&_},_;fgﬂfﬁ-[.ul ,:*CFI 243
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2 gl JIGuai

Write the osmotic adaptations of hydrophytes and xerophytes. e f_,,;_ DB b B A) (1
Describe the structure and functions of thyroid gland and IS s S B K 1, 05(L)
pancreas. i
Which are the major organs involved in homeostasis in human AT Tend i oo™ wndat o) (2
body? Describe the roles of each of these organs. i
_H:/(ngJJ},J{U J'f e
Describe the contribution of Ibne-al-Haytham and Ali Ibne-Isa F-‘::le.:,‘_,_rj__,fi,tiwjh_ﬂgdﬂ__E;gﬂ,;_jw;T(___)
with knowledge about the structure of eye and treatment of o ) ’
various ophthalmic diseases. s 57 i
Define osmoregulation. Describe the role of kidney in R I A ARy N I ) B
osmoregulation. ) y )
[/
With the help of labeled diagram explain the structure of nephron. sl o W N
Write the names of functions of lobes of cerebrum. And explain. i, jw.,_mﬂb&aﬁ‘vcf,ﬂl_bﬁ{,t; WEELIL e () (4
Describe the functioning of kidney. a N Yol 3 6N
What is neuron? Explain its three types. S el S e () (5
Write a note of hemodialysis. i v (L)
What is a neuron or a nerve cell? Describe its structure. W e S A (h) (6
What are coordinators? Name the coordinators of nervous and T S T B st s 20T ()
chemical coordination. ) W
~l - I"L
What do you mean by a bone? Describe its structure. e U e e ) (1
What conditions are necessary for the germination.of seed? ST Fn L ST 2 S AL
What are the main components of an axialskeletonand ?Lﬂr—u.ffua'fﬁﬁ'iw:é;f'!gi‘*.m'ﬁpufﬁuﬂuﬁl(-ﬁ) 2
appendicular skeleton of human? | -
What is meant by tissue culture and cloning? Explain. S oot st o e B AL
What is meant by a joint? Desaribe.different types of joints. e I St p e () (B
What is meant by pollinafion? Differentiate between self and LIRSS N et st p e FE ()
cross pollination.
Describe the roles of tendens and ligaments in human skeletal S SE T 2 J,u{ Zoua) @
system. T )
Write down the advantages and disadvantages of vegetative ISl bt e £6L o (L)
propagation of plants. e T
What is arthritis? Write down its symptoms and treatment. Also A oS e e St e U 2T () (5
describe its different types. | C I
-|,_..-..-"' 'l.r
Describe two common methods of artificial propagation. JSIE s ij:‘?._.”d;#(_)
What is meant by binary fission? How asexual reproduction by L e 2L A 20 ,,fbr_uﬁdf{(_ﬂ) 6

binary fission takes place in bacteria, amoeba and planaria.

T{-Jﬂw)’u os *ﬂ,:;-w

What is meant by vegetative propagation? Describe different
ways of natural vegetative propagation.

A & L & s 0 A 4
—GL?-E’:- J"'z-ih;r:ﬁdu-’i'.‘;ﬂfyfa. ;/“':E'J.;rfﬁ(-r)

JAE
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4 gt JlGuet

Discuss the biotic components of an ecosystem. NI P R el 1) B
Write a note on carbon cycle. i)
Write a note on nitrogen cycle. i e ) @
What is meant by acid rain? Write down the significant effects of el L o\ e JE(e)
acid rain. oo
Define green house effect. What is global arming? Write its LS B Sy Plebag ) G
effects. oo T ) )
L

What is water pollution? Describe its effects and control. Iy - VA PRI N ()
Write the important achievements of biotechnology with UK S GG F e e Lot et i (i) (4
reference to medicine, agriculture and environment. )

-/
Describe two basic types of carbohydrate fermentation. S el d:L-’mJ.;}fﬂ o M)
Describe four groups of food obtained by fermentation. IS e &S Sl m Pl S G
What is a fermenter? Give the detail of two types of fermentation, e 2 AU S e § A jo (L)
carried out in fermenter. )

S/
Write down the achievements of genetic engineering. Lo T KL B B () (6

What is meant by single-cell protein (SCP)? Write its importance.

S Ml A ek e ()
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